Volume 57 No. 3 2009, 333-340

ADMISSIBILITY OF DEGENERATE DIFFERENCE EQUATIONS

Saud M.A. Alsulami

Department of Mathematics King Abdul Aziz University P.O. Box 138381, Jeddah, 21323, KINGDOM OF SAUDI ARABIA e-mail: alsulami@kau.edu.sa

Abstract: We give characterization of the admissibility of degenerate difference equations in terms of solvability of the operator equations $AX - BXS_{\mathcal{M}} = -\delta_0^{\mathcal{M}}$ and $AX - BXS_{\mathcal{M}} = C$.

AMS Subject Classification: 39A99

Key Words: admissibility, degenerate difference equations and the operator equation AX - BXD = C

1. Introduction

In this paper, we study the admissibility of the nonhomogeneous equation $Bx_{n+1} = Ax_n + y_n$ where A and B are closed, densely defined, linear, generally unbounded operators.

The question of regular admissibility of a subspace \mathcal{M} in $BUC(\mathbb{R}, E)$ (the space of all bounded and uniformly continuous functions on \mathbb{R} with values in the Banach space E) plays an important role in the study of asymptotic behavior of solutions of differential equations. A classical approach to the question of regular admissibility of a subspace \mathcal{M} is to use the so called Green's function. An alternative way to study the admissibility is to use a method introduced by Vu et al [8], which connects the regular admissibility of the space \mathcal{M} with the solvability of the operator equation of the form

$$AX - X\mathcal{D}_{\mathcal{M}} = C,\tag{1}$$

where \mathcal{D} is the differentiation operator, $\mathcal{D}_{\mathcal{M}}$ is its restriction to the space \mathcal{M} ,

Received: September 27, 2009 © 2009 Academic Publications

C is a bounded operator from \mathcal{M} to E and $X: \mathcal{M} \to E$ is the unknown bounded operator. We generalize their result to the nonhomogeneous equation $Bx_{n+1} = Ax_n + y_n$. A sequence $(x_n)_{n \in \mathbb{Z}} \subset E$ is called a solution, if the equation is satisfied for all $n, n \in \mathbb{Z}$.

2. The Generalized Spectrum and Resolvent

Assume that $D := D(A) \cap D(B)$ is dense in E. Let λ be a complex number, such that $(\lambda B - A)$ is one-to-one on D. Define C_{λ} by

$$D(C_{\lambda}) = \{x \in D : \text{ there exists a unique } y \in D \}$$

such that $Bx = \lambda By - Ay\}$

$$C_{\lambda}x = y$$
.

Define the resolvent set of (A, B) by

$$\rho(A, B) := \{ \lambda \in \mathbb{C} : C_{\lambda} \text{ is densely defined and bounded} \},$$

and the spectrum by $\sigma(A,B) := \mathbb{C} \setminus \rho(A,B)$. For $\lambda \in \rho(A,B)$, define the generalized resolvent by $R_{\lambda} :=$ closure of the operator C_{λ} . Thus, R_{λ} is a bounded operator on X.

Moreover, $\rho(A, B)$ is an open set, R_{λ} satisfies the resolvent identity and is an analytic function in $\rho(A, B)$.

We denote by $Sp(\mathbf{x})$ the spectrum of \mathbf{x} . That is $Sp(\mathbf{x})$ consists of λ ($|\lambda| = 1$) such that for every neighborhood \mathcal{U} of λ there exists a numerical sequence $\varphi = (\varphi_n) \in l^1$ with $supp(\hat{\varphi}) \subset \mathcal{U}$ and $\varphi * \mathbf{x}$ is not identically zero, where

$$(\varphi * \mathbf{x})_n \equiv \sum_{i=-\infty}^{\infty} \varphi_{n-i} x_i, n \in \mathbb{Z}.$$

We recall the following theorem from Alsulami et al [1]:

Theorem 1. Assume that $\mathbf{x} = (x_n)_{n=-\infty}^{\infty}$ is a bounded solution of $Bx_{n+1} = Ax_n + y_n$. Then, $Sp(\mathbf{x}) \subset \sigma(A, B) \cup Sp(\mathbf{y})$.

3. Operator Equation AX - BXD = C

Let A and B be closed operators on a Banach space E with $D(A) \cap D(B)$ dense in E, D be a closed operator on Banach space F and C be a bounded operator from F to E.

Definition 2. A bounded operator $X : F \to E$ is called a *bounded solution* of the operator equation

$$AX - BXD = C (2)$$

if $Range(X)\subseteq D(B)$ and for each $f\in D(D),\ Xf\in D(A),\ and\ AXf-BXDf=Cf.$

Note that the operator equation AX - XD = C is a special case of equation (2), where B is the identity operator. If B is bounded and invertible, then we can convert equation (2) into equation of the form

$$AX - XB = C (3)$$

by multiplying both sides of (2) by B^{-1} .

Equation (3) has been considered by many authors. It was first studied intensively for bounded operators by Daleckii et al [3] and Rosenblum [5]. For unbounded operators, the case when A and B are generators of C_0 -semigroups was considered in Arendt et al [2] and Vu [7] and the general case was considered in Ruess et al [6] and Vu et al [9]. The following Theorem is a brief summary of known results about the unique solvability of equation (3)

Theorem 3. (1) If A and D are bounded operators, the equation (3) has a unique solution for every bounded C if and only if $\sigma(A) \cap \sigma(D) = \emptyset$. In this case, the solution is given by

$$X = -\frac{1}{2\pi i} \int_{\Gamma} (\lambda - A)^{-1} C(\lambda - D)^{-1} d\lambda, \tag{4}$$

where Γ is a Cauchy contour which separates $\sigma(A)$ and $\sigma(D)$ such that $\sigma(D)$ is inside of Γ .

Note. If we take Γ as a contour around $\sigma(A)$, then the solution is the same integral (now over new Γ) but with positive sign, i.e.

$$X = \frac{1}{2\pi i} \int_{\Gamma} (\lambda - A)^{-1} C(\lambda - D)^{-1} d\lambda.$$
 (5)

(2) If A and -D are generators of C_0 -semigroup T(t) and S(t) with growth bound $\omega(A)$ and $\omega(-D)$ respectively such that $\omega(A) + \omega(-D) < 0$, then for every bounded C, equation (3) has a unique solution, which is given by

$$X = -\int_0^\infty T(t)CS(t)dt.$$
 (6)

(3) If A and -D are generators of C_0 -semigroups with $\sigma(A) \cap \sigma(D) = \emptyset$ and if one of them is the generator of an analytic semigroup, then equation (3)

has a unique solution.

(4) If A is the generator of an exponentially dichotomic C_0 -semigroup T(t) and -D is the generator of an isometric C_0 -group S(t), then for every C, equation (3) has a unique solution given by

$$X = -\int_{-\infty}^{\infty} G_A(t)CS(t)dt,$$
(7)

where

$$G_A(t) = \begin{cases} T(t)P, & t \ge 0, \\ -T(t)(I-P), & t < 0, \end{cases}$$

is the Green function. Here, P denotes the dichotomic projection.

(5) If A and D are closed operators with disjoint spectra and if one of them is bounded, say D, then for every C, equation (3) has a unique solution given by

$$X = -\frac{1}{2\pi i} \int_{\Gamma} (\lambda - A)^{-1} C(\lambda - D)^{-1} d\lambda,$$

where Γ is a Cauchy contour around $\sigma(D)$ and disjoint from $\sigma(A)$.

- (6) If for every bounded operator C, equation (3) has a unique solution, then $\sigma(A) \cap \sigma(D) = \emptyset$.
- (7) If A and D are closed unbounded operators, then the condition $\sigma(A) \cap \sigma(D) = \emptyset$ is, in general, not sufficient for the solvability of (3).

If B of equation (2) is not invertible, then the situation is quite different, even if B is bounded. We recall the following theorem from Lan [4, Corollary 3.5]:

Theorem 4. If for every bounded operator $C: F \mapsto E$, the equation

$$AX - BXD = C$$

has a unique bounded solution, then $\sigma(A, B) \cap \sigma(D) = \emptyset$.

The converse of the above theorem is generally false, even for the case when B = I (see Vu [7, Example 9]). However, it holds in some particular cases. For example, when B = I, and A and D are generators of C_0 semigroups, one of which is analytic (see Vu [7]), or both are eventually norm continuous (see Arendt et al [2]).

4. Admissibility of Degenerate Difference Equations

Consider the following equation:

$$Bx_{n+1} = Ax_n + y_n \,\forall n \in \mathbb{Z}. \tag{8}$$

Let $\mathbf{x} := (x_n)_{n \in \mathbb{Z}}$, $\mathbf{y} := (y_n)_{n \in \mathbb{Z}}$ and $\mathbf{z} := (z_n)_{n \in \mathbb{Z}}$. We also use the notation $(\mathbf{x})_n \equiv x_n$.

Let $l^{\infty}(\mathbb{Z}, E)$ be the Banach space of all bounded sequences $\mathbf{x} := (x_n)_{n \in \mathbb{Z}}$ with the sup-norm. Consider the shift operator $S : l^{\infty}(\mathbb{Z}, E) \mapsto l^{\infty}(\mathbb{Z}, E)$ via $S : (x_n)_{n \in \mathbb{Z}} \mapsto (x_{n+1})_{n \in \mathbb{Z}}$ (thus, $(S\mathbf{x})_n = x_{n+1}$). Below, for convenience of notation, we also use the notation $\varphi_m = S^m$, i.e. $(\varphi_m \mathbf{x})_n = (\mathbf{x})_{n+m}$. Let \mathcal{M} be a subspace of $l^{\infty}(\mathbb{Z}, E)$ which is translation invariant, i.e. invariant with respect to the shift operator S. We denote the restriction of S on \mathcal{M} by $S_{\mathcal{M}}$ and define the Dirac operator $\delta_0 : l^{\infty}(\mathbb{Z}, E) \to E$ by $\delta_0 \mathbf{x} := x_0$.

Definition 5. We call $\mathcal{M} \subset l^{\infty}(\mathbb{Z}, E)$ a regularly admissible subspace with respect to (8) if for every $\mathbf{y} = (y_n)_{n=-\infty}^{\infty} \in \mathcal{M}$, there exists a unique solution $\mathbf{x} = (x_n)_{n=-\infty}^{\infty} \in \mathcal{M}$ of equation (8).

We make the following assumption: \mathcal{M} is invariant under any bounded linear operator commuting with S (and hence with all φ_n , $n \in \mathbb{Z}$).

Lemma 6. Let \mathcal{M} be admissible with respect to (8) and assume that the above assumption holds. Let X be the bounded solution operator defined as $X\mathbf{y} = x_0$ where $\mathbf{x} := (x_n)_{n \in \mathbb{Z}}$ is the solution of (8) for given $\mathbf{y} := (y_n)_{n \in \mathbb{Z}}$ and S be the shift operator.

Then, X and S are commute in the sense that for $y \in \mathcal{M}$, XSy = SXy.

Proof. Given $\mathbf{y} \in \mathcal{M}$, there exist a unique \mathbf{x} satisfies (8). Also, it is not difficult to see that $(S\mathbf{x})$ is the unique solution of the same equation with \mathbf{y} replaced by $(S\mathbf{y}) := (y_{n+1})_{n \in \mathbb{Z}}$.

Let
$$\mathbf{y} := (y_n)_{n \in \mathbb{Z}} \in \mathcal{M}$$
. Then

$$SXy = (Sx_0) = x_1$$

and

$$XSy := X(Sy)_n = X(y)_{n+1} = (x)_1 = x_1,$$

which implies XSy = SXy.

Theorem 7. Let \mathcal{M} be as above. Then, the following are equivalent:

(i) M is regularly admissible.

(ii) The operator equation

$$AX - BXS_{\mathcal{M}} = -\delta_0^{\mathcal{M}} \tag{E1}$$

has a unique bounded solution.

(iii) For every bounded linear operator $C: \mathcal{M} \longrightarrow E$

$$AX - BXS_{\mathcal{M}} = C \tag{E2}$$

has a unique bounded solution.

Proof. (i) \Longrightarrow (ii). Let \mathcal{M} be admissible and $G: \mathcal{M} \longrightarrow \mathcal{M}$ be the bounded operator defined by $G\mathbf{y} = \mathbf{x}$ where \mathbf{x} is the unique solution in \mathcal{M} of the equation (8) with given $\mathbf{y} \in \mathcal{M}$ and $(G\mathbf{y})_n = (\mathbf{x})_n$. It is not difficult to see that G is linear and closed. Thus, by the Closed Graph Theorem, G is a bounded linear operator on \mathcal{M} . It is also easy to see that G commutes with $S_{\mathcal{M}}$. Define $X\mathbf{y} = (G\mathbf{y})_0 := x_0$. It can been seen that G commutes with φ_n ; in particular, $(G\mathbf{y})_n = X\varphi_n\mathbf{y}$. Therefore, from $\mathbf{y} \in D(S_{\mathcal{M}})$ it follows that $(G\mathbf{y})_n \in D(S_{\mathcal{M}})$ and

$$BS_{\mathcal{M}}(G\mathbf{y})_n = (G\mathbf{y})_{n+1} = x_{n+1} = Ax_n + y_n = A(G\mathbf{y})_n + y_n.$$

In particular, by putting n = 0 we obtain

$$BS_{\mathcal{M}}(G\mathbf{y})_0 = A(G\mathbf{y})_0 + y_0$$

i.e.

$$BS_{\mathcal{M}}X\mathbf{y} = AX\mathbf{y} + \delta_0^{\mathcal{M}}\mathbf{y} \ \forall \mathbf{y} \in D(S_{\mathcal{M}}).$$

By Lemma 6 we have

$$BXS_{\mathcal{M}}\mathbf{y} = AX\mathbf{y} + \delta_0^{\mathcal{M}}\mathbf{y} \ \forall \mathbf{y} \in D(S_{\mathcal{M}}).$$

Hence

$$AX\mathbf{y} - BXS_{\mathcal{M}}\mathbf{y} = -\delta_0^{\mathcal{M}}\mathbf{y} \ \forall \mathbf{y} \in D(S_{\mathcal{M}}).$$

Thus, X is a bounded solution of the operator equation (E1).

On the other hand, if X is a bounded solution of the operator equation (E1), then for every $\mathbf{y} \in D(S_{\mathcal{M}})$, the vector $\mathbf{x} \in \mathcal{M}$ defined by $\mathbf{x} := (x_n)_{n \in \mathbb{Z}}$ where $x_n = X\varphi_n\mathbf{y} \ \forall n \in \mathbb{Z}$ is a solution of equation (8). Indeed, we have

$$BS_{\mathcal{M}}x_n = BS_{\mathcal{M}}X\varphi_n\mathbf{y} = BXS_{\mathcal{M}}\varphi_n\mathbf{y}$$
$$= (AX + \delta_0^{\mathcal{M}})\varphi_n\mathbf{y} = AX\varphi_n\mathbf{y} + \varphi_n\delta_0^{\mathcal{M}}\mathbf{y} = Ax_n + y_n.$$

Thus, for every $\mathbf{y} \in \mathcal{M}$ the sequence $\mathbf{x} := (x_n)_{n \in \mathbb{Z}}$, where $x_n = X\varphi_n \mathbf{y} \ \forall n \in \mathbb{Z}$, is a solution in \mathcal{M} of (8).

Since the solution in \mathcal{M} is unique for every $\mathbf{y} \in \mathcal{M}$, it follows that the solution X of the operator equation (E1) is unique.

(ii) \Longrightarrow (iii). It follows from the uniqueness of the solution of the operator equation (E1) that X=0 is the only solution of the following operator equation:

$$AX - BXS_{\mathcal{M}} = 0.$$

From this it follows that a solution of the operator equation $AZ - BZS_{\mathcal{M}} = C$ is unique, if it exists. Let X be the unique bounded solution of the operator equation (E1) and C be given bounded linear operator. By the assumption above, we can define operator

$$Z: \mathcal{M} \to E \text{ by } Z\mathbf{y} = X\widetilde{\mathbf{y}},$$

where $(\widetilde{\mathbf{y}})_n = -C\varphi_n\mathbf{y}$.

Thus

$$AZ\mathbf{y} - BZS_{\mathcal{M}}\mathbf{y} = -AX(C\varphi_n\mathbf{y}) + BXS_{\mathcal{M}}(C\varphi_n\mathbf{y}) = \delta_0(C\varphi_n\mathbf{y}) = C\mathbf{y},$$
$$\forall \mathbf{y} \in D(Z),$$

i.e.,
$$AZ - BZS_{\mathcal{M}} = C$$
.

(iii) \Longrightarrow (i). Since for every C there exists a unique solution X of the operator equation (E2), then it follows that $\sigma(A) \cap \sigma(S_{\mathcal{M}}) = \emptyset$ see [2].

But, from part ((i) \Longrightarrow (ii)), the sequence $\mathbf{x} := (x_n)_{n \in \mathbb{Z}}$, where $(\mathbf{x})_n = X\varphi_n\mathbf{y}$, is a solution in \mathcal{M} of (8). We need to show that the solution is unique. Suppose there exist two solutions $\mathbf{v} := (v_n)_{n \in \mathbb{Z}}$ and $\mathbf{w} := (w_n)_{n \in \mathbb{Z}}$ in \mathcal{M} of (8). Consider $\mathbf{z} := (z_n)_{n \in \mathbb{Z}}$ where $z_n = v_n - w_n$. Then, \mathbf{z} is a solution of equation $Bx_{n+1} = Ax_n$ in \mathcal{M} . Thus, by Theorem 1, $Sp(\mathbf{z}) \subset \sigma(A, B)$. Since $\mathbf{z} \in \mathcal{M}$, we have $Sp(\mathbf{z}) \subset \sigma(S_{\mathcal{M}})$. By Corollary 4, it follows from (iii) that $\sigma(A, B) \cap \sigma(S_{\mathcal{M}}) = \emptyset$. Hence, we have $Sp(\mathbf{z}) = \emptyset$, which implies that $\mathbf{z} = 0$.

Therefore, the solution is unique in \mathcal{M} and \mathcal{M} is regularly admissible. \square

References

- [1] S.M. Alsulami, S.Y. Shaw, Q.-P. Vu, On stability, admissibility and periodic solutions of linear difference equations in Banach spaces, In: *AIMS'Fifth International Conference* (Summer 2004).
- [2] W. Arendt, F. Rabiger, A. Sourour, Spectral properties of the operator equation AX XB = Y, Quart. J. Math. Oxford, 45, No. 2 (1994), 133-149.
- [3] J. Daleckii, M.G. Krein, Stability of Solutions of Differential Equations on Banach Spaces, Amer. Math. Soc., Providence, RI (1974).

[4] N.T. Lan, Operator equation AX - BXD = C and degenerate differential equations in Banach spaces, IJPAM, 24, No. 3 (2005), 383-404.

- [5] M. Rosenblum, On the operator equation BX XA = Q, Duke Math. J., **23** (1956), 263-269.
- [6] W.M. Ruess, Quoc-Phong Vu, Asymptotically almost periodic solutions of evolution equations in Banach spaces, J. Differential Equations, 122 (1995), 282-301.
- [7] Quoc-Phong Vu, The operator equation AX XB = C with unbounded operators A and B and related abstract Cauchy problems, $Math.\ Z.,\ 208$ (1991), 567-588.
- [8] Quoc-Phong Vu, E. Schuler, The operator equation AX XB = C, admissibility, and asymptotic behavior of differential equations, J. of Differential Equations, 145 (1998), 394-419.
- [9] Quoc-Phong Vu, E. Schuler, The operator equation $AX X\mathcal{D}^2 = -\delta_0$ and second order differential equations in Banach spaces, Nonlinear Differential Equations and their Applications, 42 (2000), 352-363.